Name

Unif: Expressions
Student Handout 6 Date Pd

PISTRIRUTIVE PROPERTY

Each student below simplified the expressions as shown.

6(3 +9) 6(3) + 6(9) 6(x) + 6(9)
6(12) 18 + 54 bx + 54
72 72

If x=3, will Frances’ solufion be the same as Miguel’s and Elise’s? Explain why this might be.

* The distributive property allows us to multiply each term

parentheses by the number the parentheses.
. DISTRIRUTIVE
. PROPERTY

* Algebraically, we would say:

alb +¢) = a(b —c) =

* Be careful with your when mulfiplying infegers.

1. Each of the four members of the Robinson family ordered a drink (d), fwo slices of pizza (p),
and an ice cream cone (c).

4 (=

Disfribute and write an expression to represent their order:

2. Use the area models below to disfribute.

3x 2
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Practice distributing by writing the expression in expanded form and simplest form.

3. 4.
2(x + 6) 7(5 + p)
Expanded Form: Expanded Form:
Simplest Form: Simplest Form:
5. 6.
8(7 —9) 12(r —9)
Expanded Form: Expanded Form:
Simplest Form: Simplest Form:

Use fthe disfributive property to simplify the expressions below.

7. 8. qg.
5(3x + 10) 3(x +4) 12(6 — 2x)

10. Mrs. Wentzel wrofe three problems on the board and asked her students to idenfify which one
was incorrect. Circle the example that has been distribufed incorrectly and write the correct

answer.

4(12w +15) 63 + 2g) #9 - 8K)
48w + 60 18+ 12g 63 — 8k

11. Which of the following has fwo equivalent expressions?

A. 12 4+ (x - 3) B.12 -x+ 3 -x C.12(x + 3) D. 12(x + 3)
(12+x)-3 12(x + 3) 12-x+3 12.x+12-3

Summarize today’s lesson:

©Maneuvering the Middle LLC, 2015



Unit: Expressions Name
Homework 6 Date Py

PISTRIRUTIVE PROPERTY

Use the disfribufive property fo simplify each expression. Then, draw a line to the solufion in the
right column. After all the questions have been complefed, unscramble the remaining leffers to
form the name of a mystery character.

1.
(3-x) 1 N 4 1sx-
5(3 F P 13x - 26
2. R J

6(9 + 3x) - N -~ 55x+88
3(x + 5) - T 15 - 5x

14(2x + 4) - -~ 60-10x

7(4 - x) 1 | -~ 54+ 18x
6 T R
O 13(x-2) + 4+ 28-7x
, N
8(4 + 3x) - - 3x+ 15
W
: - M
11(5x + 8) - - 6+ x
9 C
1(6 + x) +~ U W 4 28x+56
10.
10(6 - x) 4 | S 4 32+ 24x

MYSTERY CHARACTER:
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